000000000 Doooooooo (OoO: 000 0)00 140000 (1/2800)

00 1 IMPOOUOOOOOOD « DO000O0O0O0O0OODOOO depth(a) O size(a) DO0O0 OO0
gooooo

depth(n) = depth(X) =1

depth(ag + a1) = depth(ag — a1) = depth(ag x a1) = max(depth(ag), depth(ay))
size(n) = size(X) =1

size(ap + a1) = size(ag — a1) = size(ag x ay) = size(ag) + size(ar) + 1

(1) depth(X +(3—4)) 0 size(X+(3—4)) 00000

(2) 000000 « 00000 size(a) <29 1 0000000000000

00200 FeP(N)-P(N)DODOODODOODOO(NOOOOOOOOO)O
F(X)={z|ye X &z =y*mod9} U {5}

(zmody 0 20 y00ODDOODODOODODO)

(1) F{1,4)00000

(2) 000000000 OOOOO0OO000OCOOOOOO00OO0OOOOODOOOODOODODOOO
goooooo

oo 3 IMPOOUOOODOODDOOODODOO
cu=skip | X :=a | cp;c1 | if b then ¢ else ¢; | repeat ¢ until b

U00b0b0ODe,b00000000DO0OD0ODODUODODO0O0O0OLOUODUOrepeat c until b 00
O0p0000000 ¢c0O0O0ODODODOOOOOODOODODOOOO o(X)=0,0(Y)=4000

(repeat X =X 4+Y;Y:=Y —1luntil Y =0,0) — 0[10/X][0/Y]
(repeat X := X +Y;Y :=Y — 1 until true,o) — o[4/X][3/Y]

Ub00odboobDobobboobuoobobodbUubUUdrepeat cuntildo DO OO0 OOOODOOO
oboooooo

(repeat X =X +Y;YV:=Y —1untilY =3,0) — 0[4/X][3/Y]
goooooooooooao
00 40000000 (0D0O00OOOOO00OO0)0D0D0DO0DOOODODOOOOODOOOODODOO

00 500 ¢, 000 f00000000000000000O00000O00 ;0 ¢ 000
000000000 communicating process 1 OO DO0O000O0O0OO0OO0OO

co = if (true N a?X — ¢)) | (true A 57X — ¢)) fi
c = if (true — a?X;c) | (true — 7X; ) fi

000000000000000000000(MO00:4=0,100000(¢ ||am)\8\a 0000
0oooooooon)



A IMPOOOOOOOOO(OD)

(skip,o) — o

(a,0) = n

(X :=a,0) — on/X]

(co,0) — " (c1,0")y — o

(cosc1,0) — 0’

(b,0) — true (co,0) — 0’

(if b then ¢ else ¢1,0) — o’

(b,0) — false (¢1,0) — o

(if b then ¢ else ¢j,0) — o’

B communicating process 00000000000 (ODD)

(skip,o) — o

(a,0) = n

(X :=a,0) — o[n/X]

(@?X,0) “Z on/X]

(a,0) = n

(ala, o) o

A
<6070> - <0670/>

A
{co; c1,0) = (i c1,07)

(ge,a) > (e, o)

(if gc fi,0) > (¢, o)

guarded command 000000

(b,0) — true

(b—c,0) — {c,0)

(b,0) — true

(gc, o) — fail

(do gc od,o) — o

(gesa) D (e, o)

(do gc od, o) LN {(¢;do gc od, o’)

A
{co,0) = (e, ")
A

(co |l e1,0) = (e || e1,07)
? !
(co,0) F' (c), ") (e1,0) D (d),0)

{co [l er,o) = (g || &1, 07)

<c,a>i><c’,o’) AZ£am 00 X#aln)

(bAa?X — c,0) D (e, 0[n/X])

(b,0) — true {(a,0) > n

(bAala — ¢, o) o (c,0)

{(gco, ) — {(c,0)

{gco | ger,0) — (e, 0")

(c\a, o) 2 (\a, ")

(b,0) — false

(b — ¢,0) — fail

(b,o) — false

(bAa?X — ¢,0) — fail

(b,o) — false

(bAala — ¢,0) — fail

(gco, o) — fail (gc1,0) — fail

(gco | ge1,0) — fail



